Illustration 1: To show how a Cartesian coordinate system is transformed into a polar coordinate system

n = g(u,v)Y = h(u,v)Griven, Sff(n,y) dA = Sf(u,v) dA

Suppose we need to determine *dA* where *dA* would represent the area of a small parallelogram in the *U* and *V* co-ordinate system



So, the area of a small parallelogram would be determined by



(1))
$$J' = \frac{\partial(r, 0)}{\partial(x, y)} = \frac{1}{r}$$
Accorrigin to given
$$= \frac{\partial(x, y)}{\partial(r, y)} = r$$
 $J \times J' = 1$
 $\therefore Fround$.

PROPERTY 2: CHAIN RULE
$$\frac{\partial(u, v)}{\partial(x, y)} = \frac{\partial(u, v) Otesale. Co. UK}{Pround}$$

$$\frac{\partial(u, v)}{\partial(x, y)} = \frac{\partial(u, v) Otesale. Co. UK}{\int \partial x}$$

$$\frac{\partial(u, v)}{\partial x} = \frac{\partial(u, v)}{\int \partial y} \frac{\partial(u, v) Otesale. Co. UK}{\int \partial x}$$

$$Property 2: CHAIN RULE$$

$$\frac{\partial(u, v)}{\partial(x, y)} = \frac{\partial(u, v) Otesale. Co. UK}{\int \partial x}$$

$$\frac{\partial(u, v)}{\partial x} = \frac{\partial(u, v)}{\int \partial x} \frac{\partial(u, v)}{\partial x} \frac{\partial(u, v)}{\partial y}$$

$$= \left| \frac{\partial u}{\partial r} \times \frac{\partial r}{\partial x} + \frac{\partial u}{\partial s} \times \frac{\partial s}{\partial x} - \frac{\partial u}{\partial y} \times \frac{\partial r}{\partial y} + \frac{\partial u}{\partial s} \times \frac{\partial s}{\partial y} \right|$$

$$= \left| \frac{\partial u}{\partial r} \times \frac{\partial r}{\partial x} + \frac{\partial u}{\partial s} \times \frac{\partial s}{\partial x} - \frac{\partial u}{\partial y} \times \frac{\partial r}{\partial y} + \frac{\partial u}{\partial s} \times \frac{\partial s}{\partial y} \right|$$

$$= \left| \frac{\partial u}{\partial x} \times \frac{\partial r}{\partial x} + \frac{\partial u}{\partial s} \times \frac{\partial s}{\partial x} - \frac{\partial u}{\partial y} \times \frac{\partial r}{\partial y} + \frac{\partial u}{\partial s} \times \frac{\partial s}{\partial y} \right|$$

$$= \left| \frac{\partial u}{\partial x} - \frac{\partial u}{\partial y} \right|_{x} = \frac{\partial(u, v)}{\partial (x, y)} = \frac{\partial(u, v)}{\partial (x, y)} = \frac{\partial(u, v)}{\partial (x, y)} = \frac{\partial(u, v)}{\partial (x, y)}$$